

$${}^X K \ni {}^X \gamma = X^i \gamma$$

$$K^\gamma = {}^X K \cap \underbrace{{}^X \gamma^X K}$$

$$\begin{array}{ccc} & \xleftarrow{(\)^\gamma} & \\ K^\gamma & \xleftarrow{{}^X K} & K \\ & \xleftarrow{(\)^\gamma} & \end{array}$$

$$k^\gamma = k + {}^X \gamma^X K$$

$$K^\sigma \xleftarrow{\sigma} K$$

$$\cap \qquad \qquad \qquad \cap$$

$${}^Y K^\sigma \xleftarrow{\overline{(\)}^\sigma} {}^X K$$

$${}^Y \overline{\gamma}^\sigma = Y^i \overline{\gamma}^\sigma$$

$$K^\gamma \xleftarrow{(\)^\gamma} K$$

$$\cap \qquad \qquad \qquad \cap$$

$${}^Y K^\gamma \xleftarrow{\overline{(\)}^\gamma} {}^X K$$

$${}^X \gamma = X^j \gamma \mapsto {}^Y \overline{\gamma} = Y^j \overline{\gamma}$$

$${}^{X^1} \overline{\gamma} = 0^\gamma \Rightarrow {}^{Y^1} \overline{\gamma} = \overbrace{Y - X^1}^m {}^Y \overline{\gamma}: \quad {}^Y \overline{\gamma} \in {}^Y K^\gamma: \quad {}^{X^1} \overline{\gamma} \neq 0^\gamma$$

$$\begin{aligned} \text{LHS} &= \overbrace{X^i}^\gamma \gamma = \overbrace{X + {}^X \gamma^X K}^\gamma \gamma = \underbrace{X^i + {}^X \gamma^X K}_i \gamma + \underbrace{{}^X \gamma^X K}_\gamma \\ &= X^i \gamma + {}^X \gamma^X K = {}^X \gamma + {}^X \gamma^X K = \text{RHS} \end{aligned}$$

$$K^{\gamma^\dagger} = (K^\gamma)^\dagger$$

